Installation
Manual

VOLVO V60 5DR
VOL-V60-E-B

Fixing Clips

4

CL-M12x 8

L RdC

Side Shades ‘

CL-MI3 x 4

3

Port Shades CL-M14 x 1

Tailgate Shades

" "
www.carshades.com | info@carshades.com w

ssssss



Insta I I at [ on | Components Needed |

VOLVO V60 5DR
VOL-V60-E-B

Side Shades CL-M12x 4 CL-M13x 4
Side Shade Installation

www.carshades.com | info@carshades.com



Installation

VOLVO V60 5DR
VOL-V60-E-B

Side Shade Installation
STEP 7

"
www.carshades.com | info@carshades.com m i 3

ssssss



Installation

VOLVO V60 5DR
VOL-V60-E-B

N ol

Port Shades CL-M12x 2

Port Shade Installation
STEP 1

—

”
www.carshades.com | info@carshades.com w 4

ssssss



Installation

<«

VOLVO V60 5DR
VOL-V60-E-B

Tailgate Shades CL-M12x 2 CL-M14 x 1

Tailgate Shade Installation

www.carshades.com | info@carshades.com @ 5



Installation

VOLVO V60 5DR
VOL-V60-E-B

Tailgate Shade Installation

S H A D E s

Repeat this whole process for the other side.

STEP 9 STEP 10

www.carshades.com | info@carshades.com i 6

s HaADES



